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Lysergic acid diethylamide is the chemical name for LSD, also known as acid on the streets.
a) Combustion of a 4.20 g of LSD produced 11.43 g CO,, 2.92 g H,0, and 1.79 g NO,. Assuming 294

the empirical formula is the same as the molecular formula, what is the molecular formula of 3 v
LSD?

M3 2026640\ 2623 o .0 324 139 gt ISR k’m ;
vy d S0 4.0 W k. )ﬂ" 8 C 0.013 mol ¢
3 \'La c 23074 0545y i
b) Write a balanced reaction for the combustion of LSD. 42042. DH% N0 S L

UCMeM0 11502 — Qoco, . ANO, . 50H1
¢) The Chem God conducted the combustion of another LSD sample in a calorimeter. After
combustion, the temperature of the outside air increased by 50°C. If the specific heat of LSD is
K Z/@ kJ/g * K and there was 4.20 grams of LSD in the calorimeter, calculate the Q for tlsxe
*%" combustion of LSD. AT=-50 g=-l.bx \0° kJ
gemelT= 1,20 (166) (-50)= 154, 620 KJ
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d) Name and draw four isomers of the compound CH3CHC1CHFCH3 (SERAN]
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€) Name and draw four 1somers of the compound C4H100
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a) (5 pts) The boiling point of AIN is higher than that of Mg;N,.
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b) (5 pts) Magnesium would be a better metal than Cesium to use in electrical wiring.
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c) (5 pts) IF, is nonpolar but AtFClBr 1s polar.
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d) (5 pts)The bond-bond angle in H,O is 105" whlle itis 107.5" in NH;
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e) (5 pts) Solid copper, which is insoluble in water, conducts electricity while solid Cesium
Astatide, which is a strong electrolyte soluble in water, does not conduct electncnty
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Give the formulas to show the reactants and products for the statements. Each of the reactions occurs
in aqueous solution unless otherwise indicated. Represent substances in solutions as ions if the
substance is extensively ionized. Omit formulas for any ions or molecules that are unchanged by the
reaction. In all cases a reaction occurs. WRITE BALANCED NET IONIC EQUATIONS. (i).
Answer the question that follows about the reaction (ii).
a) Solid dichlorine heptoxide is added to distilled water.

i) (Apts). 40y * W0y — LR ag) + 20104
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i) (1 pt.) What is the oxidation state of Chlorine in dichlorine heptoxide?
+
b) Pure mercurous chloride is heated in a test tube over a cold Bunsen burner flame.

ii) (@pts)  Haylhigy 5 /)_\‘\CgL;)Jr A\ (o

ii) (1 pt.) Will the mass remaining in the test tube be larger, smaller, or the same as before
the reaction? Explain. (pe5er. Chlorve Qas will eccape From he
tec o & ube
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c) Pureastatme. is added to a solunon of Aluminum Jfedide.

Do G DAt Ty > ATgy+ Avary)



[image: image3.jpg]ii) (1 pt.) What type of reaction is this?
Single displace ment .
d) Propanone is burned in air.

) (4 pts) CaeOsy % Oy =230 ¢ 34,00)
i) (1 pt.) Draw and name oneoxso\iner of propanone. s B0
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e) A solution of dilute hydroiodic acid is added toa suspensmn of barium sulfi Ie
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i) (1 pt.) How would one know that a reaction took place?
The uAgest oé‘:r o€ 501
Noble gases do not usually form compounds, but Radon is an exception. The compounds Radon
tetrafluoride and Radon trioxide have the formulas RnF, and RnOs respectlvely o)

a) Draw the lewis structures for both molecules. (ol
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b) What is the hybrldlzatlon and molecular geometry 3present in each of the two molecules?
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c) Which of the two molecules will be more soluble in water? Explaln using dipole moments.
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d) Will RnF, or RnAty be more polar? Justify your answer.
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e) Does RnF4 follow the octet rule? Explam why or why not these particles can exist.
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f) Explain \:/\hy NeF, and HeF, cannot exist. : \ ;
Ne gnd He do mot haw  d-orbita ane  {hus cannot expond
Yhelr Ockehs fg form  Quch  compUw.

g) Draw the lewis structure for perchloric acid.|y o\ 32
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h) Identify the hybridization and molecular geometry present in the anion.
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i) Theoretically, the acid should form when a nonmetal oxide is added to water. Identify this oxide
and explain whether or not it can exist. Justify your answer usmg proper bonding principles.
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j) Is Perchloric acid a weak or strong amd" Jusnfy your answer using bonding pr1nc1p1es
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